

Proposal #009252377

Prepared For

Anchorage Ind School District

Attention:
Amber Elder
amber.elder@anchorage.kyschools.us

For the Purchase of:

Anchorage Independent Schools Into Math K-8 with Waggle - 3 year license

Prepared By
Brent Offerdahl
brent.offerdahl@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: http://www.hmhco.com/common/terms-conditions

Coupon Code: PRODPB15

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention:
Amber Elder
amber.elder@anchorage.kyschools.us

HMH Confidential and Proprietary

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Proposal for

Anchorage Ind School District						
	Alloholug		Distric	,,,		Value of
ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
<u>Grad</u> Student Digit						
Waggle Ma		\$121.50	45	\$5,467.50		\$5,467.50
	dent Digital Licenses	\$5,467.50				
Teacher Digit	tal Licenses					
1894088 97982020672	204 Into Math VRS1 Teacher License WA 3 Year Grades K-5	\$993.60	1	\$993.60	\$993.60	
Waggle Ma Access to		\$0.00				
A la Carte Iter	ms Available for Purchase					
Teacher Mate	erials					
1732957 97813286133 1753079 97803581321 1749826 97803581113 1749808 97803581113 1749802 97803581111 1749820 97803581111 1729167 9781328584 Student Mate	Into Math Teacher Edition Collection Grade K Into Math Planning and Pacing Guide Grade K Into Math TE Flipchart Grade K Into Math Unit Project Cards Grade K Into Math Game and Activity Cards Grade K Into Math Math Reader Collection Grade K	\$413.80 \$171.60 \$21.31 \$120.05 \$16.25 \$16.25 \$34.56	2 2 2 2 2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$69.12	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$10.38	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$58.74
1814913 97803586086	653 2020 Into Math Student Edition Collection with	\$16.49	45	\$742.05	\$111.15	\$630.90
	Practice and Homework Journal Set 3 Year Print Grade K					
Total for A la	Carte Items Available for Purchase	\$1,980.36				
Total for Grade K		\$7,447.86				
<u>Grad</u> Student Digit						
		\$121.50	45	\$5,467.50		\$5,467.50
	ation Success dent Digital Licenses	\$5,467.50				
Teacher Digit	_	ψο, τον .οο				
1894088 97982020672		\$993.60	2	\$1,987.20	\$1,987.20	
Waggle Ma	Grades K-5 ludes: Digital Teacher Resources 3 Year Grades K-5 ath Digital Teacher Resources 3 Year Grades K-5 Teacher's Corner					
	cher Digital Licenses	\$0.00				
	ms Available for Purchase					
Teacher Mate		** **********************************	•	#007.00	\$404.44	#702.42
1732958 9781328614: 1753080 9780358131: 1749827 9780358111: 1749809 9780358111: 1749801 9780358111: 1749821 9780358111: 1729168 9781328584: Student Mate	 Into Math Teacher Edition Collection Grade 1 Into Math Planning and Pacing Guide Grade 1 Into Math TE Flipchart Grade 1 Into Math Unit Project Cards Grade 1 Into Math Game and Activity Cards Grade 1 Into Math Math Reader Collection Grade 1 	\$413.80 \$171.60 \$21.31 \$120.05 \$16.25 \$16.25 \$41.31	2 2 2 2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$82.62	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$12.40	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$70.22
1814914 97803586086	660 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1	\$16.49	45	\$742.05	\$111.15	\$630.90
Coupon Code: PF	RODPB15	Attention: Amber Elder			end <u>Orders</u> to: ers@hmhco.com	

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive amber.elder@anchorage.kyschools.us **HMH Confidential and Proprietary**

FAX: 800-269-5232

ICDN	Tide			Value of all	Value of Free	Value of Charged
ISBN	Title	Price	Quantity	Materials	Materials	Materials
Total for A la C	arte Items Available for Purchase	\$1,991	.84			
Total for Grade 1		\$7,459	.34			
<u>Grade</u> Student Digital						
	des: gital Student Resources 3 Year Grades K- n Digital Student Resources 3 Year Grades	5	60 45	\$5,467.50		\$5,467.50
Total for Stude	nt Digital Licenses	\$5,467	.50			
Teacher Digital	Licenses					
Waggle Math	Grades K-5 des: gital Teacher Resources 3 Year Grades K- n Digital Teacher Resources 3 Year Grade	5	60 2	\$1,987.20	\$1,987.20	
	eacher's Corner ner Digital Licenses	\$0.0	n			
	s Available for Purchase	ψ0.0	-			
Teacher Materi						
1732959 978132861431 1753081 978035813267 1749828 978035811117 1749810 978035811177 1749804 978035811171 1749822 978035811189 1729169 978132858412 Student Materi	5 Into Math Premium Manipulatives Kit 17 Into Math Teacher Edition Collection of 18 Into Math Planning and Pacing Guide 19 Into Math TE Flipchart Grade 2 19 Into Math Unit Project Cards Grade 2 19 Into Math Game and Activity Cards Goton Math Math Reader Collection Grade 1	Grade 2 \$171.6 Grade 2 \$21.3 \$120.0 \$16.2 rade 2 \$16.2	50 2 11 2 15 2 5 2 5 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$96.50	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$14.48	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$82.02
1814915 978035860867		•	9 45	\$742.05	\$111.15	\$630.90
Total for A la C	carte Items Available for Purchase	\$2,003	.64			
Total for Grade 2		\$7,471	.14			
<u>Grade</u> Student Digital						
1894080 979820206712 Package Included Into Math Dig	9 Into Math VRS1 Student License WA des: gital Student Resources 3 Year Grades K- n Digital Student Resources 3 Year Grades	5	50 45	\$5,467.50		\$5,467.50
	ent Digital Licenses	\$5,467	.50			
Teacher Digital	l Licenses					
Waggle Math Access to Te	Grades K-5	5		\$1,987.20	\$1,987.20	
	•	φυ.υ	U			
	s Available for Purchase					
Teacher Materi 1732960 978132861432 1753082 978035813268 1749829 978035811178 1749805 978035811172 1749823 978035811190 1729170 978132858413	Into Math Premium Manipulatives Kit Into Math Teacher Edition Collection of Into Math Planning and Pacing Guide Into Math TE Flipchart Grade 3 Into Math Unit Project Cards Grade 3 Into Math Game and Activity Cards G	Grade 3 \$171.6 Grade 3 \$21.3 \$120.6 \$16.2 rade 3 \$16.2	50 2 11 2 15 2 5 2 5 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$82.62	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$12.40	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$70.22
Coupon Code: PRO	á	Attention: Amber Elder amber.elder@anchorage.kysc	hools.us	orde	end <u>Orders</u> to: ers@hmhco.com X: 800-269-5232	
Send <u>Check Paym</u> HMH Education Co 14046 Collection C Chicago, IL 60693	<u>ents</u> to: mpany	HMH Confidential and Prop		. , u		

Chicago, IL 60693 009252377

	ISBN	Title		Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
S	Student Materials							
1814916	9780358608684	2020 Into Math Student Edition Collection Practice and Homework Journal Set 3 Y		\$16.49	45	\$742.05	\$111.15	\$630.90
Т	otal for A la Cart	Print Grade 3 e Items Available for Purchase		\$1,991.84				
Total fo	or Grade 3			\$7,459.34				
s	<u>Grade 4</u> Student Digital Li	censes						
1894080	9798202067129 Package Includes Into Math Digital	Into Math VRS1 Student License WA 3 \		\$121.50	45	\$5,467.50		\$5,467.50
т	Implementation otal for Student	Success		\$5,467.50				
Т	eacher Digital Li	censes						
1894088	9798202067204	Into Math VRS1 Teacher License WA 3 Grades K-5	Year	\$993.60	2	\$1,987.20	\$1,987.20	
		Teacher Resources 3 Year Grades K-5 gital Teacher Resources 3 Year Grades K	(-5					
Т	otal for Teacher			\$0.00				
		vailable for Purchase		·				
т	eacher Materials							
1732961 1753083 1749830 1749812	9781328614339 9780358132691 9780358111979	Into Math Premium Manipulatives Kit Gra Into Math Teacher Edition Collection Gra Into Math Planning and Pacing Guide Gra Into Math TE Flipchart Grade 4	ade 4	\$413.80 \$171.60 \$21.31 \$120.05	2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10	\$124.14 \$51.48 \$6.40 \$36.02	\$703.46 \$291.72 \$36.22 \$204.08
1749806	9780358111733	Into Math Unit Project Cards Grade 4		\$16.25	2	\$32.50	\$4.88	\$27.62
1749824 1729171 S	9780358111917 9781328584144 Student Materials	Into Math Game and Activity Cards Grace Into Math Math Reader Collection Grade		\$16.25 \$48.25	2 2	\$32.50 \$96.50	\$4.88 \$14.48	\$27.62 \$82.02
1814917	9780358608691	2020 Into Math Student Edition Collectio Practice and Homework Journal Set 3 Y		\$16.49	45	\$742.05	\$111.15	\$630.90
Т	otal for A la Cart	Print Grade 4 e Items Available for Purchase		\$2,003.64				
Total fo	or Grade 4			\$7,471.14				
s	<u>Grade 5</u> Student Digital Li	censes						
1894080	9798202067129 Package Includes	Into Math VRS1 Student License WA 3 \	⁄ear	\$121.50	45	\$5,467.50		\$5,467.50
.		gital Student Resources 3 Year Grades K Success	-5	\$5,467.50				
	eacher Digital Li	•		ψ0,407.00				
1894088	9798202067204	Into Math VRS1 Teacher License WA 3 Grades K-5	Year	\$993.60	2	\$1,987.20	\$1,987.20	
		Teacher Resources 3 Year Grades K-5 gital Teacher Resources 3 Year Grades K	(-5					
Т	otal for Teacher			\$0.00				
A	la Carte Items A	vailable for Purchase						
Т	eacher Materials							
1732962 1753084 1749831	9781328614346 9780358132707 9780358111986	Into Math Premium Manipulatives Kit Gra Into Math Teacher Edition Collection Gra Into Math Planning and Pacing Guide Gr	ade 5	\$413.80 \$171.60 \$21.31	2 2 2	\$827.60 \$343.20 \$42.62	\$124.14 \$51.48 \$6.40	\$703.46 \$291.72 \$36.22
Coup	pon Code: PRODI		Atten Amber	Elder		orde	end <u>Orders</u> to: ers@hmhco.com	
HMH	d Check Paymen	<u>:s</u> to: any H I	ber.elder@ancho			FAX	X: 800-269-5232	
	16 Collection Cent ago, IL 60693	er drive		· 	-			

		J					Value of
ISBN	Title		Price	Quantity	Value of all Materials	Value of Free Materials	Charged Materials
1749813 9780358111801	Into Math TE Flipchart Grade 5	_	\$120.05	2	\$240.10	\$36.02	\$204.08
1749807 9780358111740 1749825 9780358111924	Into Math Unit Project Cards Grade Into Math Game and Activity Cards		\$16.25 \$16.25	2 2	\$32.50 \$32.50	\$4.88 \$4.88	\$27.62 \$27.62
1729172 9781328584151 Student Materials	Into Math Math Reader Collection G		\$55.20	2	\$110.40	\$16.56	\$93.84
1814918 9780358608707	2020 Into Math Student Edition Colle Practice and Homework Journal Set		\$16.49	45	\$742.05	\$111.15	\$630.90
Total for A la Care	Print Grade 5 te Items Available for Purchase	•	\$2,015.46				
Total for Grade 5			\$7,482.96				
<u>Grade 6</u> Student Digital Li	concos						
1894096 9798202067280	Into Math VRS1 Student License W	Δ 3 Vear	\$121.50	45	\$5,467.50		\$5,467.50
Package Includes	s:		Ψ121.50	40	ψ5,407.50		ψ5,407.50
3	Il Student Resources 3 Year Grades 6 igital Student Resources 3 Year Grade Success						
Total for Student			\$5,467.50				
Teacher Digital Li	icenses						
1894104 9798202067365	Into Math VRS1 Teacher License W Grades 6-8	A 3 Year	\$993.60	2	\$1,987.20	\$1,987.20	
Package Includes Into Math Digita	s: Il Teacher Resources 3 Year Grades 6	6-8					
	igital Teacher Resources 3 Year Grad	les 6-8					
Access to Teacher Total for Teacher			\$0.00				
A la Carte Items A	Available for Purchase						
Teacher Materials	5						
1732973 9781328614353	Into Math Premium Manipulatives Ki	it Grades	\$413.80	2	\$827.60	\$124.14	\$703.46
1750434 9780358116301	6-8 Into Math Planning and Pacing Guid	le Grade 6	\$21.31	2	\$42.62	\$6.40	\$36.22
1756245 9780358157038	Into Math Teacher Edition Collection	n Grade 6	\$171.60	2	\$343.20	\$51.48	\$291.72
1750452 9780358116486 1750458 9780358116547	Into Math Unit Project Card Grade 6 Into Math Game and Activity Cards		\$16.25 \$16.25	2 2	\$32.50 \$32.50	\$4.88 \$4.88	\$27.62 \$27.62
1750428 9780358116240	Into Math TE Flipchart Grade 6	Grade 0	\$120.05	2	\$240.10	\$36.02	\$204.08
Student Materials							
1765484 9780358222286	Into Math Student Edition (Consuma Year Print Grade 6	able) 3	\$16.51	45	\$742.95	\$111.60	\$631.35
Total for A la Cart	te Items Available for Purchase)	\$1,922.07				
Total for Grade 6			\$7,389.57				
<u>Grade 7</u> Student Digital Li	censes						
1894096 9798202067280	Into Math VRS1 Student License W	A 3 Year	\$121.50	45	\$5,467.50		\$5,467.50
	s: Il Student Resources 3 Year Grades 6 igital Student Resources 3 Year Grad						
Implementation	Success		¢E 407 50				
Total for Student	•		\$5,467.50				
Teacher Digital Li			# 000 00	j	# 000 00	# 000 00	
1894104 9798202067365 Package Includes	Into Math VRS1 Teacher License W Grades 6-8	A 3 Year	\$993.60	1	\$993.60	\$993.60	
Into Math Digita	l Teacher Resources 3 Year Grades 6 igital Teacher Resources 3 Year Grad						
Total for Teacher			\$0.00				
	Available for Purchase						
Teacher Materials	S						
Coupon Code: PROD	PB15		ntion:			end <u>Orders</u> to:	
0	45.45	Amber amber.elder@anch	er Elder norage.kyschools	s.us		ers@hmhco.com K: 800-269-5232	
Send <u>Check Paymen</u> HMH Education Comp	pany	HMH Confidentia					
14046 Collection Cen	ter Drive			•			

	_					Value of
ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Charged Materials
1750436 978035811632 1756246 978035815704	0 0	\$21.31 \$171.60	2 2	\$42.62 \$343.20	\$6.40 \$51.48	\$36.22 \$291.72
1750454 978035811650	9 Into Math Unit Project Cards Grade 7	\$16.25	2	\$32.50	\$4.88	\$27.62
1750460 978035811656 1750430 978035811626		\$16.25 \$120.05	2 2	\$32.50 \$240.10	\$4.88 \$36.02	\$27.62 \$204.08
Student Materia						
1765485 978035822229	Year Print Grade 7	\$16.51	45	\$742.95	\$111.60	\$631.35
lotal for A la C	arte Items Available for Purchase	\$1,218.61				
Total for Grade 7		\$6,686.11				
<u>Grade</u> Student Digital						
1894096 979820206728		\$121.50	45	\$5,467.50		\$5,467.50
	les: jital Student Resources 3 Year Grades 6-8 Digital Student Resources 3 Year Grades 6-8					
Implementati	on Success	¢5 407 50				
Teacher Digital	nt Digital Licenses	\$5,467.50				
1894104 979820206736		\$993.60	1	\$993.60	\$993.60	
	Grades 6-8	\$	·	4000.00	4000.00	
Waggle Math	ital Teacher Resources 3 Year Grades 6-8 Digital Teacher Resources 3 Year Grades 6-8					
	acher's Corner er Digital Licenses	\$0.00				
	s Available for Purchase					
Teacher Materi	als					
1732973 978132861435	•	\$413.80	1	\$413.80	\$62.07	\$351.73
1750438 978035811634		\$21.30	1	\$21.30	\$3.20	\$18.10
1756247 978035815705 1750456 978035811652		\$171.60 \$16.25	1 1	\$171.60 \$16.25	\$25.74 \$2.44	\$145.86 \$13.81
1750462 978035811658	5 Into Math Game and Activity Cards Grade 8	\$16.25	1	\$16.25	\$2.44	\$13.81
1750432 978035811628 Student Materia	•	\$120.05	1	\$120.05	\$18.01	\$102.04
1765486 978035822230	9 Into Math Student Edition (Consumable) 3 Year Print Grade 8	\$16.51	45	\$742.95	\$111.60	\$631.35
Total for A la C	arte Items Available for Purchase	\$1,276.70				
Total for Grade 8		\$6,744.20				
Advan Teacher Digital						
1894104 979820206736	5 Into Math VRS1 Teacher License WA 3 Year	\$993.60	1	\$993.60	\$993.60	
Package Includ	Grades 6-8 les: jital Teacher Resources 3 Year Grades 6-8					
	Digital Teacher Resources 3 Year Grades 6-8 acher's Corner					
	er Digital Licenses	\$0.00				
A la Carte Items	s Available for Purchase					
Teacher Materi	als					
1750435 978035811631	8 Into Math Planning and Pacing Guide Advanced 1	\$21.30	1	\$21.30	\$3.20	\$18.10
1756248 978035815706		\$171.60	1	\$171.60	\$25.74	\$145.86
1750453 978035811649 1750459 978035811655	Into Math Game and Activity Cards Advanced	\$16.25 \$16.25	1 1	\$16.25 \$16.25	\$2.44 \$2.44	\$13.81 \$13.81
1750429 978035811625	1 7 Into Math TE Flipchart Advanced 1	\$120.05	1	\$120.05	\$18.01	\$102.04
Coupon Code: PRC		Attention: Amber Elder er@anchorage.kyschools.	ue	orde	end <u>Orders</u> to: ers@hmhco.com X: 800-269-5232	
Send Check Paym	ents to:	0 ,		rA.	n. 000-20 3- 0232	
HMH Education Co 14046 Collection Co Chicago, IL 60693		nfidential and Proprietary	у			

Anchorage Ind School District

Proposal for	Expiration Date: 3/1/2025
Annali ana ma lin il Oali a al Diatriat	

1	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
To	Total for A la Carte Items Available for Purchase						
Total fo	Total for Advanced 1						
٨	Advance	ed 2 Available for Purchase					
	eacher Materials						
	9780358116332	Into Math Planning and Pacing Guide	\$21.30	1	\$21.30	\$3.20	\$18.10
1756249	9780358157076	Advanced 2 Into Math Teacher Edition Collection Advanced	\$171.60	1	\$171.60	\$25.74	\$145.86
1750455	9780358116516	2 Into Math Unit Project Cards Advanced 2	\$16.25	1	\$16.25	\$2.44	\$13.81
1750461	9780358116578	Into Math Game and Activity Cards Advanced	\$16.25	1	\$16.25	\$2.44	\$13.81
1750431 T o	9780358116271 otal for A la Car	Into Math TE Flipchart Advanced 2 te Items Available for Purchase	\$120.05 \$293.62	1	\$120.05	\$18.01	\$102.04
Total fo	or Advanced 2		\$293.62				
	Accelera						
		Available for Purchase					
1750439	eacher Materials 9780358116356	s Into Math Planning and Pacing Guide	\$21.30	1	\$21.30	\$3.20	\$18.10
1756250	9780358157083	Accelerated 7 Into Math Teacher Edition Collection	\$171.60	1	\$171.60	\$25.74	\$145.86
1750457	9780358116530	Accelerated 7 Into Math Unit Project Cards Accelerated 7	\$16.25	1	\$16.25	\$2.44	\$13.81
1750463	9780358116592	Into Math Game and Activity Cards Accelerated 7 Accelerated 7	\$16.25	1	\$16.25	\$2.44	\$13.81
	1750433 9780358116295 Into Math TE Flipchart Accelerated 7 Total for A la Carte Items Available for Purchase		\$120.05 \$293.62	1	\$120.05	\$18.01	\$102.04
Total fo	or Accelerated	<u>7</u>	\$293.62				
_		onal Services - Into Math K-5 Version 1 WA	<u>\</u>				
	oaching		*				
1883292	9798202010903	Coachly Getting Started Live Online 1-Hour Grades K-12	\$400.00	1	\$400.00	\$400.00	
		ct-scheduled session, participants will explore rience, discuss the impact of collaboration on					
	most of their Coa						
1883291	9798202010897	Coachly Leader Success Live Online 1-Hour Grades K-12	\$400.00	1	\$400.00	\$400.00	
		vel leader-focused session, participants will hly experience, discuss its value and the impact					
	of collaboration o	n student and teacher growth, and develop e the most of their Coachly partnership.					
	· ·	•••					
	and details aroun	mmendations for usage and progress monitoring d next steps for teachers to launch their					
1868040	partnerships. 9780358943136	Connected Solutions Into Math Coachly 4 + In-	\$6,500.00	1	\$6,500.00		\$6,500.00
	Coachly provides	Person Subscription 1 Year Grades K-5 one-on-one coaching to teachers to build their					
	program expertise, support lesson planning, and discuss data- driven, actionable strategies to grow teacher practice. Each						
	teacher is matched with a certified coach with whom they can schedule virtual sessions and message via the Ed platform. The						
	Coachly 4+ annua	al subscription includes 4 Coachly digital licenses coaching days. In-person coaching days can					
	support individual	is or teams of teachers with lesson modeling, and data analysis.					
To	otal for Coachin		\$6,500.00				

Coupon Code: PRODPB15

Attention: Amber Elder amber.elder@anchorage.kyschools.us Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

HMH Confidential and Proprietary

Anchorage Ind School District

	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	•	upport for Into Math K-5 Version 1 WA Into Math VRS1 WA Getting Started In-Person	\$4,200.00	1	\$4,200.00		\$4,200.00
1034112	In this six-hour Get components of Into through a lesson, a Ed. To strengthen I explore their new p Participants becom	6-Hour Grades K-5 ting Started, participants explore the essential Math K-5 and its instructional model, walk nd practice accessing key resources on HMH earning, they collaborate with colleagues to rogram and engage in rich discussions. e prepped and ready to plan their first lessons arning on the Teacher Success Pathway.	\$4,200.00	·	ψ-1,200.00		\$ -1 ,200.00
1894110	days. Öngoing trair their Into Math K-5 learning pathway of including live sessic resources, to help t learning using their pathway topics, the 9798202066849 This two-hour Getti new program's stru recommendations.	ne initial step towards a successful first 30 ining and support will be provided on Ed through Teacher Success Pathway. This guided ffers a recommended sequence of topics, ons, videos, interactive media, and related eachers plan, teach, and assess student new HMH program. After teachers complete y receive a certificate of completion. Into Math VRS1 WA Getting Started Live Online 2-Hour Grades K-5 ng Started session introduces teachers to their cture, essential resources, and implementation Teachers will also explore Ed, HMH's teaching m, and the professional learning pathway on	\$800.00	1	\$800.00	\$800.00	
	Ed. Getting Started is the Ongoing training are teachers will access grade level and improve sequence of topics, interactive media, at each, and assess:	ne initial step toward a successful first 30 days. In disciplination of the support will be also provided on Ed. There, is a guided learning pathway based on their plementation timeline. A recommended which includes live sessions, videos, and related resources, will help teachers plan, student learning using their new HMH program plete each pathway topic, they receive a					
1768332	certificate of comple 9780358242550 Participants will lea direct instruction, p. behind Waggle - ar all learners that uni also gaining an unc program. The goal confidence to begin	etion. Getting Started: Introduction to Waggle Math Live Online 2-Hour Grade K-8 rn the hows and whys of Waggle! Through articipants will learn the driving philosophy a engaging, productive practice environment for fies content and empowers teachers- while lerstanding of the real-world application of the is to build deeper understanding and implementing Waggle in their respective	\$800.00	1	\$800.00	\$800.00	
1894113 T	During this one-houdesign and resourcevelop a plan to g successful start, HM student learning pralso preview the Te HMH Ed for ongoin otal for Implement	Into Math VRS1 WA Leaders Success Live Online 1-Hour Grades K-5 Ir live online session, leaders learn about the es of their HMH program. To help leaders uide implementation and set up teachers for a MH Coaches share tools and best teaching and actices to observe in the classroom. Leaders eacher Success Pathways and resources on	\$400.00 \$4,200.00	1	\$400.00	\$400.00	
Total fo		version 1 WA Services - Into Math K-5 Version 1					
WA			\$10,700.00				
C	Professio Coaching	nal Development for Into Math 6-8	Version 1 WA				
	9780358933533	Connected Solutions Into Math Coachly Digital	\$1,500.00	2	\$3,000.00	\$450.00	\$2,550.00
Т	otal for Coaching	License 1 Year Grades 6-8	\$2,550.00				
Ir	mplementation Su	pport for Into Math 6-8 Version 1 WA					
1894117		Into Math VRS1 WA Getting Started In-Person 6-Hour Grades 6-8	\$4,200.00	1	\$4,200.00		\$4,200.00
·	pon Code: PRODP	amber.el	Attention: Amber Elder lder@anchorage.kyschools.	us	orde	end <u>Orders</u> to: ers@hmhco.com K: 800-269-5232	
HMH	d <u>Check Payments</u> I Education Compa I6 Collection Cente	<u>s</u> to: Any HMH C	onfidential and Proprietar				
Chic	ago, IL 60693						

	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	In this six-hour Getting Started, participan components of Into Math and its instruction a lesson, and practice accessing key reso strengthen learning, they collaborate with their new program and engage in rich disc become prepped and ready to plan their ficontinue learning on the Teacher Success Started is the initial step towards a succes Ongoing training and support will be provint to Math Teacher Success Pathway. This pathway offers a recommended sequence sessions, videos, interactive media, and reachers plan, teach, and assess student HMH program.? After teachers complete particles of the sessions of the service of the serv	nal model, walk through urces on HMH Ed. To colleagues to explore cussions. Participants rst lessons as they s Pathway. Getting isful first 30 days. ded on Ed through their s guided learning of topics, including live elated resources, to help learning using their new					
1894115	receive a certificate of completion. 9798202066894 Into Math VRS1 WA G Online 2-Hour Grades This two-hour Getting Started session intr new program's structure, essential resour recommendations. Teachers will also expl and learning platform, and the professions Ed. Getting Started is the initial step towan days. Ongoing training and support will be There, teachers will access a guided learr their grade level and implementation timel sequence of topics, which includes live se interactive media, and related resources, teach, and assess student learning using After teachers complete each pathway top certificate of completion.	6-8 oduces teachers to their ces, and implementation lore Ed, HMH's teaching al learning pathway on rd a successful first 30 e also provided on Ed. ning pathway based on ine. A recommended ssions, videos, will help teachers plan, their new HMH program.	\$800.00	1	\$800.00		\$800.00
1894118	9798202066924 Into Math VRS1 WA Lo Online 1-Hour Grades During this one-hour live online session, le design and resources of their HMH progradevelop a plan to guide implementation ar successful start, HMH Coaches share too student learning practices to observe in the also preview the Teacher Success Pathwa HMH Ed for ongoing support.	6-8 eaders learn about the im. To help leaders d set up teachers for a ls and best teaching and e classroom. Leaders	\$400.00	1	\$400.00		\$400.00
T	otal for Implementation Support for Version 1 WA	Into Math 6-8	\$5,400.00				

Total for Professional Development for Into Math 6-8 Version 1 WA

\$7,950.00

Subtotal Purchase Amount: \$85,142.52 Shipping & Handling: \$3,294.05 Total Cost of Proposal (PO Amount): \$88,436.57

Please add proper sales tax to your order

Coupon Code: PRODPB15

Attention:
Amber Elder
amber.elder@anchorage.kyschools.us

Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Expiration Date: 3/1/2025

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

HMH Confidential and Proprietary

Total Cost of Proposal (PO Amount): \$88,436.57

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
 - o Email address for Accounts Payable contact
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to: Sold to:

Anchorage ISD Anchorage ISD 11400 Ridge Rd 11400 Ridge Rd

Anchorage, KY 40223-2444 Anchorage, KY 40223-2444

- Please provide funding start and end dates.
- Please note HMH bills products and services as they are fulfilled. You may receive multiple invoices for your order.
- HMH reserves the right to transmit documents electronically.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location guoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 1/15/2025 **Proposal Expiration Date: 3/1/2025**



Coupon Code: PRODPB15

Attention: Amber Elder amber.elder@anchorage.kyschools.us

HMH Confidential and Proprietary

HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

Send Check Payments to:

Send Orders to:

orders@hmhco.com

FAX: 800-269-5232